
 

 

APTITUDE QUIZ 

Q.1. Out of 10 teachers of a school, one teacher retires and in place 
of him a new teacher 25 yrs. old joins. As a result of it average age 
of the teachers reduces by 3 yrs. Age of the retired teacher (in yrs.) 
is. 

(A) 55 

(B) 65 

(C) 45 

(D) 75 

 

Q.2. The average weight of 20 students in a class is increased by 
0.75 kg when one student of 35 kg replaced by a new student 
weight of the new student (in kg) is: 

(A) 35 

(B) 40 

(C) 45 

(D 50 

 

Q.3. In a class, three are 40 boys and their age is 16 years. One boy, 
aged 17 years, leaving the class and another joining, the average 
age becomes 15.875 years. The age of the new boy is : 

(A) 12 years 

(B) 14.5 years 



 

 

(C) 15 years 

(D 17 years 

 

Q.4. The average age of 8 men is increased by 2 years when two of 
them whose age are 21 and 23 years replaced by two new men. The 
age of the two new men is : 

(A) 22 years 

(B) 24 years 

(C) 28 years 

(D 30 years 

 

Q.5. The average age of 30 boys in a class is 15 years. One boy, 
aged 20 years, left the class, but two new boys came in his place 
whose age differs by 5 years. If the average of all the boys now in 
the class becomes 15 years, the age of the younger newcomer is: 

(A) 20 years 

(B) 15 years 

(C) 10 years 

(D  8 years 

 
Q.6. The average marks of 32 boys of section A of class X is 60 
whereas the average marks of 40 boys of section B of class X is 33. 
The average marks for both the sections combined together is 

(A) 44 



 

 

(B) 45 

(C) 46 

(D) 45 

 

Q.7. A man bought 13 articles at Rs. 70 each, 15 at Rs. 60 each and 
12 at Rs. 65 each. The average price per article is 

(A) Rs. 60.25 

(B) Rs. 64.75 

(C) Rs. 65.75 

(D) Rs. 62.25 

 

Q.8. A fruit seller sold big, medium and small sized apples for Rs. 

15, Rs. 10, and Rs. 5 respectively. The total number of apples sold 

were in the ratio 3 : 2 : 5. Find the average cost of an apple. 

(A) 8 

(B) 10 

(C) 9 

(D) 7 

 

Q.9. A man purchased 7 bags of rice at the rate of Rs. 800 each, 8 
bags of rice at Rs. 1000 each and 5 bag of rice at the rate of Rs. 
1200 each. What is the average cost of one bag of rice? 



 

 

(A) Rs. 1000 

(B) Rs. 980 

(C) Rs. 1120 

(D) Rs. 1050 

 

Q.10. Three Science classes A, B and C take a Life Science test. The 
average score of class B is 76. The average score of class A and B is 
79 and average score of class B and C is 81, Then the average score 
of class A, B and C is 

(A) 80 

(B) 81 

(C) 80.5 

(D) 81.5 

 
Q.11. The average of marks scored by the students of a class is 68. 
The average of marks of the girls in the class is 80 and that of the 
boys is 60. What is the percentage of boys in the class? 

(A) 40% 

(B) 60% 

(C) 65% 

(D) 70% 

 



 

 

Q.12. The average weight of 15 students in a class increases by 1.5 
kg when one of the student weighing 40 kg is replaced by new 
student. What is the weight (in kg) of the new student? 

(A) 64.5kg. 

(B) 56 kg. 

(C) 60 kg. 

(D) 62.5 kg. 

 

Q.13. There are 50 students in a class. There average weight is 45 
kg. When one student leaves the class the average weight reduces 
by 100g. What is the weight of the student who left the class ? 

(A) 45 kg. 

(B) 47.9 kg. 

(C) 49.9 kg. 

(D) 50.1 kg. 

 

Q.14. The average weight of 12 crewmen in a boat is increased 
by kg, when one of the crewmen whose weight is 55 kg is replaced 
by new man. What is the weight of that new man? 

(A) 58 kg 

(B) 60 kg 

(C) 57 kg 

(D) 59 kg 



 

 

Q.15. Average age of 8 men is increased by 3 years when two of 
them whose age are 30 and 34 years are replaced by 2 persons. 
What is the average age of the 2 persons? 

(A) 24 years 

(B) 32 years 

(C) 44 years 

(D) 48 years 

 
16. An examination was conducted for five subjects where the 
maximum marks for each subject was 100. Scored 82,97, 88 and 91 
marks in 4 subjects respectively. If his total marks were 90 percent, 
then how many marks did he get in fifth subjects? 
 

(A) 92 

(B) 94 

(C) 89 

(D) 79 

  

17. The owner of a bike buys petrol for 3 years continuously at Rs 
64, Rs 80 and Rs 320 per litre respectively. If he spends Rs 32,000 
every year buying petrol, what is the average price per litre of 
petrol? 
 

(A) 120 

(B) 84 



 

 

(C) 108 

(D) 96 

 

18. 16 children are to be divided into two group A and B consisting 
of 10 and 6 children. The average percent marks obtained by the 
children of Group A is 75 and the average percent marks of all the 
16 children is 76. What is the average percent marks of children of 
Group B? 
 

(A)  

(B)  

(C)  

(D)  

 
19. A car travel to a place 150 km away at an average speed of 50 
km/hr and returns it 30 km/hr. What is the average speed of the 
whole journey? 
 

(A) 35.5 km/hr 

(B) 37.5 km/hr 

(C) 40.5 km/hr 

(D) 33.5 km/hr 

  

20. A man spends Rs. 1800 monthly on an average for the first four 
months and Rs. 2000 monthly for the next eight months and saves 
Rs. 5600 a year. His average monthly income is 



 

 

 

(A) Rs. 2000 

(B) Rs. 2200 

(C) Rs. 2400 

(D) Rs. 2600 

 

ANSWERS 

1.  A 

2.  D 

3.  A 

4.  D 

5.  B 

6.  B 

7.  B 

8.  C 

9.  B 

10. D 

11. B 

12. D 



 

 

13. C 

14. D 

15. C 

16. A 

17. D 

18. D 

19. B 

20. C 

 

 

 


